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00000000 e*000000000000000000z<00000000
googgbooobobuooooobbooboooboboboobboon

gboboobuogbgodobobbbbboobooobbboooobooboboo
gbogobobboogobobboobboogoboobboobboooboon
gboobdoobogobn
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HRERERE

1) 0000000000 -000000000000000 (000000, 2003)
2] 0000000000 (1) (D00, 2010)

3] Leonard I. Schif 100 0000 O (DOOO, 2008)

4 0000000000000 (0000, 1993)

5| 00000CO0D0000000000000 (00000, 1992)

6) 0000 0000000000 ODODO0ODOOOODUOOODOODOOOOOOO
godad
http://www.tac.tsukuba.ac.jp/ ozawa/Sato.pdf

[77 000000 OO000O0OO0OOOOOoO00oO0OooooO oood
http://www.u-gakugei.ac.jp/ nitta/operator.pdf

Rl 0000000

OO0 1  http://apphy.u-fukui.ac.jp/ " nucleus/daiThesis12_moviel.mlv
OO0 2 http://apphy.u-fukui.ac.jp/ "nucleus/daiThesis12_movie2.mlv
00 3 http://apphy.u-fukui.ac.jp/ " nucleus/daiThesis12_movie3.mlv
OO0 4 http://apphy.u-fukui.ac.jp/ "nucleus/daiThesis12_movied.mlv
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gobobbboggdoguuoooooobboooboooooobbboon
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gbbdobooobbobouooooooooboonoon

gobobbououoobiboboobboobbooooooobbobobooooboon
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b oottt

gboboboooogbooobooooobgogooo
e JOUULUDDLODODOUOOO

e Runge-KuttaOU D DU D DOOODOOOOOOUOODOOOOOOOOOOOD
gobogobbooogobo

e Runge-Kutta 0 0 OO0 ODOO0OOOOOO0OODOODOOODOO

e J00UIDUO0O FOODDOUOOUOUDDOD AFO20000020000 AxO
0o

e OO ULUDODDODOOOOODDODO

include <stdio.h>
include <stdlib.h>
include <complex.h>
include <math.h>

H H H H

HH*

define nmax 1000 // 000 n0000
# define N (nmax+1) // 0000000000 n=0..nmax0000000O00OO
# define maxpower 6 // x0O0O0OODOODO

const double hbar = 1.0;
const int ki = 2*maxpower;
double ol_b; // b (oscillator length of the basis)

int runge(double tmax,int itmax,int dit_obs, int dit_vec,
OO0000D0000D0ODO000ODOint dit_wav,int cooling,double complex *v);
int set_hamiltonian_matrix(int option);

double deriv_xi_2 (int i, int j);

double xi_0 (int i, int j);

double xi_1 (int i, int j);

double xi_2 (int i, int j);

double xi_3 (int i, int j);

double xi_4 (int i, int j);

double xi_5 (int i, int j);

double xi_6 (int i, int j);

double complex timederivative( int i, double t, double complex *x) ;

double norm_square(double complex *x);

int normalize(double complex *x);

double harmonic_oscillator_wavefunction(int n, double x);

int write_vector(double time, double complex *v);

32



int write_wavefunction(double time, double complex *v);
int write_potential(double qO0, double ql, double g2, double g3,

OO00000000DO0O000D0COO000O double g4, double g5, double g6);

double deriv_xi_2 (int i, int j);

double xi_2 (int i, int j);

double energy_expectation_value( double complex *x);
double energy_2_expectation_value( double complex *x);
double x_expectation_value( double complex *x);

double x_2_expectation_value( double complex *x);

int main(){

}

// main1();
main2();
// main3();
return O;

int main1 (){

}

double complex v([N]; // O0OO0OOO
double tmax; // OOOOOOOOOOOO

int itmax = 10000; // OOO0OOOOO0O0OOO..itmaxO0OOOOO0O)

int dit_obs = 10; // observables OO 0O0OO0O0O0O0OO0OO0O0OODOO

int dit_vec = 10; // 0000000 OO0OOOOOOODOOOOOOO

int dit_wav = 100; // 000000000 0O0OOOOOOOOOOOOOO

// O00dit_vec,dit_wav 000000000000 OOOOOODCOOOOOOODOO
double omega = 0.5; // 000O0OO0OOODOODOOOOODOODODODOOOOOO
double beta = 0.1; // 000000000 OCOO

// 0000000000 1/0000000
int cooling = 0; // =00000000=1000000
int i; // O00O0O0O (QODOOO)

set_hamiltonian_matrix(1);
tmax = (4.0%M_PI/omega)*1;
/x 0000000 =/
for ( i=0; i<N; i++){
// v[i] = 1.0;
v[i] = exp(-betax*i);
}
normalize(v); // 000000
/¥ 00000 : 0000000000000 0000000000000° =/

// runge(tmax, itmax, 0, 0, 0, 1, v);
// runge(tmax, itmax, dit_obs, dit_vec, dit_wav, 1, v);

/* 00000 =/
runge(tmax, itmax, dit_obs, dit_vec, dit_wav, cooling, v);

return O;

int main2(){

double complex v([N]; // O0ODOOOO

33



}

double tmax; // DO 0OO0O0OOOOO0OOOO
int itmax; // 00000000000 ..itmaxOOOODOOO)
int dit_obs=0; // observables OO0 OO0O0O0O00O00O0OO0DO0O
int dit_vec=0; // 00000000000 OOOOODDOOOOO
int dit_wav=0; // 000000000 O0OOOOOOOOOOOOOOO
// O00dit_vec,dit_wavO0 OO0 000000000 O0OO0OOO0DOOOOOOOO0O
double omega = 0.5; // 0 0O00O0O0OOOOOODOOOOODODODOOOOOOO
double beta = 0.1; // 000000000 DOOO
// 0000000000 1/0000000
int cooling = 1; // =00000000=1000000
int i; // OD00O0O0O (OOODOO)

/x 0000000 =/
for ( i=0; i<N; i++){
// v[i] = 1.0;
v[i] = exp(-betax*i);
}
normalize(v); // 000004d
/* 00000 : 000000000000 00000000000000g */

set_hamiltonian_matrix(1);

tmax = 10.0;
itmax=10000000;
dit_obs = 0;
dit_vec = 0;
dit_wav = 0;
cooling = 1;

runge(tmax, itmax, dit_obs, dit_vec, dit_wav, cooling, v);
/x 00000 =/

set_hamiltonian_matrix(2) ;

tmax = 100.0;

itmax= 100000000;

dit_obs = 100000;

dit_vec = 100000;

dit_wav 100000;

cooling 0;

runge(tmax, itmax, dit_obs, dit_vec, dit_wav, cooling, v);

return O;

/ 000000000000000 %/

int runge(double tmax, int itmax, int dit_obs, int dit_vec,

0000000000000 int dit_wav, int cooling, double complex *v){

int nprint=6; // 0000000000 0COO0OOOn=0..nprint-10000

double complex vtmp[N], kO[N], k1[N], k2[N], k3[N];

double t,dt; // 00 ,000000

double complex tfct; // 0000000 dt, 0000000D0 -Ixdt
double norm2; // 000000 OOO0OOOO

double fct; // ODOOOOOOO

double E; // O00OOODODOODO E
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double E_2; // EO 200000

double X; // x0 000

double X_2; // x0 200000

double delta_E; // A E

double delta_x; // A x

int itime; // OOO0ODO0OO0O0OO=00..itmax O
int i; // 00000 0OOODO0O)

dt = tmax/itmax;
if (nprint>N)nprint=N;

/% t=0 */
t = 0.0;
if(dit_obs > 0){ // t=00 0 observables 00O
E = energy_expectation_value(v);
E_2 = energy_2_expectation_value(v);
X = x_expectation_value(v);
X_2 = x_2_expectation_value(v);
delta_E sqrt(fabs(E_2 - E*E));
delta_x = sqrt(fabs(X_2 - X*X));
printf("# t, E, delta_E, X, delta_x\n");
printf ("%f %.16f %.16f %.16f %.16f :obs\n", t, E, delta_E, X, delta_x);
}

if(dit_vec > 0) write_vector(t,v); // t=000 vectord 00
if(dit_wav > 0) write_wavefunction(t,v);

/* t>0 *x/

if (cooling==0){ tfct=dt; } else { tfct=-dt*I; }

for ( itime=1; itime<=itmax; itime++){

t = dt*itime;

for ( i=0; i<N; i++) kO[i] = timederivative( i, t, v)*tfct;

for ( i=0; i<N; i++) vtmp[il=v[i] + kO[i]/2.0;

for ( i=0; i<N; i++) ki1[i] = timederivative( i, t + dt/2.0, vtmp)*tfct;
for ( i=0; i<N; i++) vtmpl[il=v[i] + k1[i]l/2.0;

for ( i=0; i<N; i++) k2[i] = timederivative( i, t + dt/2.0, vtmp)*tfct;
for ( i=0; i<N; i++) vtmpl[il=v[i] + k2[i];

for ( i=0; i<N; i++) k3[i] = timederivative( i, t + dt, vtmp)*tfct;

for ( i=0; i<N; i++) v[i] += ( kO[i] + 2.0xk1[i] + 2.0%k2[i] + k3[i])/6.0;

if(dit_obs > 0 && itime % dit_obs == 0){
E = energy_expectation_value(v);
E_2 = energy_2_expectation_value(v);
X = x_expectation_value(v);
X_2 = x_2_expectation_value(v);
delta_E = sqrt(fabs(E_2 - E*E));
delta_x = sqrt(fabs(X_2 - X*X));

printf ("%4f %.16f %.16f %.16f %.16f :obs\n", t, E, delta_E, X, delta_x);
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}
normalize(v); // 0000000000000 DOOO0OOODODOOOOO

if(dit_vec > 0 && itime % dit_vec == 0) write_vector(t,v);

if(dit_wav > O && itime % dit_wav == 0 ) write_wavefunction(t,v);
}
if(dit_wav < 0 ) write_wavefunction(t,v);
return 0;

}
/* hamiltonian O OO =%/

// double haml[N] [N];
double *haml = NULL;

int set_hamiltonian_matrix(int option){

double mass_b = 1.0;
double omega_b = 1.0;
double mass = 1.0;
double omega = O.
double x0 = 30.0;
double x1 = 30.0;
double hightl = 1000.0;

double hight2 = 2.0;

double p, ql, 92, 93, 94, 95, g6, qO0;

int i, j;

double x0_pot=10.0; // location of minimum

double h_pot=0.5; // barrier height

double d_pot=0.0; // 0.25; // splitting of the depth of two minima

’

if (haml == NULL){

haml=malloc (N*(2*maxpower + 1)*sizeof (double));

if (haml == NULL) {fprintf(stderr,"malloc:%d\n",N);exit(1);}
}

0ol_b = sqrt(hbar/(mass_b*omega_b));

// MO O00D0000000000D00D0000 (coolingOOOODODOOOO)
if ( option == 1 ){

p = -hbar*hbar/(2.0*mass_b*ol_b*ol_b); // 2000000

ql = 0.0; // 1000000

g2 = mass*omega*omega*ol_bxol_b/2.0; // 2000000

g3 = 0.0; // 3000000

g4 = 0.0; // 4000000

g5 =0.0; // 5000000

g6 = 0.0; // mass*omega_b*omega_b*ol_b*ol_b*ol_b*ol_b*ol_b*ol_b/2.0; // 6
gooooo

q0 = 0.0; // mass*omega_b*omega_b*x0*x0*x0*x0%x0%x0/2.0; // 00O

3
else if( abs(option) == 2 ){
// 000000000000 (coooooooooono)
double bxpowl=0l_b/x0_pot,bxpow=bxpowl;
p = -hbarx*hbar/(2.0*mass*ol_b*ol_b);
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q0 =
ql =
q2 =
g3 =
q4 =
qs =
g6 = 1.0/995686217.814; // (1/31.6)76;
if (option < 0){
// MOOo00oo0o0oooooo (@obooooo)

double vspp=h_pot/pow(2*x0_pot,6.0);

q0 += x0_pot*x0_pot*x0_pot*x0_pot*x0_pot*x0_pot*vspp;

ql —-= 6.0*x0_pot*x0_pot*x0_pot*x0_pot*x0_pot*vspp;

g2 += 15.0*x0_pot*x0_pot*x0_pot*x0O_pot*vspp;

g3 -= 20.0*x0_pot*x0_pot*x0_pot*vspp;

qé4 += 15.0*x0_pot*x0_pot*vspp;

qb = -6.0*x0_pot*vspp;

q6 = vspp;

O O O O O O

}
for( i=0; i<N; i++){

int js = i-maxpower; // jstart
if (js < 0) js = 0;

int je = i+maxpower; // jend
if (je > nmax) je = nmax;

for ( j=js; j<=je; j++){
int k = ki*i + j;
ham1[k] = pxderiv_xi_2(i, j)+qO*xi_0(i, j)+ql*xi_1 (i, j)+g2*xi_2(i, j)
O0000D0OD0O0000Org3*xi_3(1, j)+géxxi_4(i, j)+qgb*xi_5(i, j)+q6*xi_6(i, j);
}
}

printf ("# %f =mass\n",mass);

printf ("# %f =ol_b\n",o0l_b);
write_potential(q0, ql, 92, g3, g4, g5, 96);
return O;

// <il(d"2/dxi~2)|j> 00000
double deriv_xi_2 (int i, int j){

if ( i==(j-2) ){
return sqrt(j*j-j)*0.5;
}
else if( i==j ){
return -j-0.5;
}
else if ( i==(j+2)){
return sqrt((j+1.0)*(j+2.0))*0.5;
}
else {
return O;

3
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}

// <ilj> 00000
double xi_0 (int i, int j){

i£( i==§ ){
return 1;
}
else {
return 0;
}
}

// <ilit~))1j> 00000
double xi_1 (int i, int j){

if( i==(j-1) ){
return sqrt(j*0.5);
}
else if ( i==(j+1)){
return sqrt((j+1.0)*0.5);
}
else {
return O;
¥
}

// <il(xit2)|j> 00000
double xi_2 (int i, int j){

if ( i==(j-2) ){
return sqrt(j*j-j)*0.5;
}
else if( i==j ){
return j+0.5;
¥
else if( i==(j+2)){
return sqrt((j+1.0)*(j+2.0))*0.5;
}
else {
return O;
}
}

// <1l (xi~3)|j> 00000
double xi_3 (int i, int j){

if ( i==(j-3) ){
return sqrt(j*(j-1.0)*(j-2.0)*0.5)*0.5;
}
else if( i==(j-1) ){
return 3.0%j*0.5*sqrt(j*0.5);
}
else if ( i==(j+1) ){
return 3.0%(j+1.0)*0.5%sqrt((j+1.0)*0.5);
}
else if( i==(j+3) ){
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return 0.5*sqrt((j+1.0)*(j+2.0)*(j+3.0)*0.5);
}
else {
return O;
}
}

// <ilxit4)1j> 00000
double xi_4 (int i, int j){

if( i==(j-4) X{
return sqrt(j*(j-1.0)*(j-2.0)*(j-3.0))*0.25;
}
else if ( i==(j-2) ){
return (2.0%j-1.0)*0.5*sqrt(j*(j-1.0));
}
else if( i==j ){
return 3.0%0.25%(j*j+(j+1.0)*(j+1.0));
}
else if( i==(j+2) ){
return (2.0%j+3.0)*0.5%sqrt((j+1.0)*(j+2.0));
}
else if ( i==(j+4) ){
return sqrt((j+1.0)*(j+2.0)*(j+3.0)*(j+4.0))*0.25;
}
else {
return O;
}
}

// <il(xit6)|j> 00000
double xi_5 (int i, int j){

if( i==(j-5) ){
return sqrt(j*(j-1.0)*(j-2.0)*(j-3.0)*(j-4.0)/2.0)*0.25;
}
else if ( i==(j-3) ){
return (5.0%j-5.0)*sqrt(j*(§-1.0)%(j-2.0)/2.0)*0.25;
}
else if( i==(j-1) ){
return (10.0%j*j+5.0)*sqrt(j/2.0)*0.25;
}
else if ( i==(j+1) ){
return (10.0%j*j+20.0%j+15.0)*sqrt ((j+1.0)/2.0)%0.25;
}
else if ( i==(j+3) ){
return (5.0%j+10.0)*sqrt((j+1.0)*(j+2.0)*(j+3.0)/2.0)*0.25;
}
else if ( i==(j+5) ){
return sqrt((j+1.0)*(§+2.0)%(§+3.0)%(§+4.0)*(§+5.0)/2.0)*0.25;
}
else {
return 0;
}
}

// <il(xi“6)1j> 00000
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double xi_6 (int i, int j){

if ( i==(j-6) ){
return sqrt(j*(j-1.0)*(j-2.0)*(j-3.0)*(j-4.0)*(j-5.0))/8.0;
}
else if ( i==(j-4) ){
return (6.0%j-9.0)*sqrt(j*(j-1.0)*(j-2.0)*(j-3.0))/8.0;
}
else if( i==(j-2) ){
return (15.0%j*j-15.0%j+15.0)*sqrt(j*(j-1.0))/8.0;
}
else if( i==j ){
return (20.0%j*j*j+30.0%j*j+40.0%j+15.0)/8.0;
}
else if ( i==(j+2) ){
return (15.0%j*j+45.0%j+45.0)*sqrt((j+1.0)*(j+2.0))/8.0;
}
else if( i==(j+4) ){
return (6.0%j+15.0)*sqrt((j+1.0)*(j+2.0)*(j+3.0)*(j+4.0))/8.0;
}
else if ( i==(j+6) ){
return sqrt((j+1.0)*(j+2.0)*(j+3.0)*(j+4.0)*(j+5.0)*(j+6.0))/8.0;
}
else {
return O;
}
}

/* 00 = sigma(hmn/i*hbar)*vn OO0 */
double complex timederivative( int i, double t, double complex *x){

double complex s;
int j, js, je;

js = i-maxpower;

if (js < 0) js = 0;

je = i+maxpower;

if (je > nmax) je = nmax;
s = 0;

for ( j=js; j<=je; j++){

s += haml[ki*i+jl*x[j];

}
return -I/hbarx*s;

}

double norm_square(double complex *x){ // OUOOODOOOODOODODODODOO
int i;
double s;
s = 0.0;
for (i=0; i<N; i++){
s += creal(x[i])*creal(x[i]) + cimag(x[i])*cimag(x[i]);
}

return s;
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int normalize(double complex *x){ // DO O0ODODOODODO
int i;
double fct;
fct = 1.0/sqrt(norm_square(x));
for ( i=0; i<N; i++){
x[i] *= fct;
3
return O;

}

double harmonic_oscillator_wavefunction(int n, double x){
// y/m/d=13/1/17
// exp(-x~2/2) H_n(x)/sqrt(sqrt(pi) n"2 n!)
// using H_n(x) = 2*x*H_{n-1}(x) -2*(n-1)*H_{n-2}(x)
double a,b,c;
double fnorm; // normalization factor
double y; // retuned value psi_n(x)
// = value of the normalized n-node eigenwavefunction at x
int k, k1=0, k2=0;
double x2; // x*x
const double fct=1.0e50,fctreci=1.0/fct;

X2=X%*X;
if (n>=2){
b=1.0;
c=2.0%x;
for(k=1;k<n;k++){
a=b;
b=c;
c=2% (x*b-k*a) ;
if (fabs(c) > fct){
k1++; ax=fctreci; b*=fctreci; cx=fctreci;
}
}
fnorm=1;
for(k=1;k<=n;k++){
fnorm*=2x*k;
if (fabs(fnorm) > fct){
k2++; fnorm*=fctreci;
}
}
y=exp (-x2*0.5+(k1-k2%0.5)*Llog(fct) ) *c/sqrt (sqrt (M_PI)*fnorm);
}
else if (n==1) y=exp(-x2%0.5)*2*x/sqrt(sqrt(M_PI)*2.0);
else if (n==0) y=exp(-x2%0.5)/sqrt(sqrt(M_PI));
else { // if(n<0)
printf ("harmonic_oscillator_wavefunction:argument error %d %f\n",n,x);
return 0.0;
}
return y;

}

int write_vector(double time, double complex *v){
// 000000 (v)OOOOOOOoOoOoOooooooooooo
// time: 00O . ODO0O0OO0O0O0OO0OO0OO0OO0OOOOOOOOOO
// v : 0000000000000 00000o0ag)
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int i;

static int filenumber = O;
double s;

FILE *fo;

char filename[256];

if (filenumber > 999) return -1; // 0000000000000 O0OOOOOOO
snprintf (filename, 256, "vec%03d.dat" ,filenumber++) ;
fo=fopen(filename,"w");
fprintf (fo,"# time=%.5f\n",time);
s=0.0;
for(i=0;i<=nmax;i++){
fprintf (fo,"%3d %.9f %.9f\n",i,creal(v[i]),cimag(v[i]));
s+=creal(v[i])*creal (v[i])+cimag(v[i])*cimag(v[i]);
}
fprintf (fo,"# squared norm=%.10f\n",s);
fclose(fo);
return O;

}

int write_wavefunction(double time, double complex *v){
// 0000 (x00000D0000000000DOO00OD
//  time: OO . O0ODOODOODOODOOOOOOOOOO
// v  00000000000000D000C00O0O)
int npsi=500; // 00000000000 xO0000O00O0O-1 (00..npsi0O0O0O)
double xmin=-80.0; // 0000000 OOOOOOODODOO
double xmax= 80.0; // 0000000 OODODOOOODDOO
int i,n;
static int filenumber = O;
double complex s;
double norm2; // DD ODOOOO0O0ODO0xOOOODOOOO)
double x,dx;
FILE *fo;
char filename[256];

if (filenumber > 999) return -1; // D000 D0O00O0O0ODDOOODOOOOOOO
snprintf (filename, 256, "wf%03d.dat" ,filenumber++) ;
fo=fopen(filename,"w");
fprintf (fo,"# time=%.5f\n",time);
dx=(xmax-xmin) /npsi;
norm2=0.0;
for(i=0;i<=npsi;i++) {
x=xmin+dx*i;
s=0.0;
for (n=0;n<=nmax;n++){
s+=v[n]*harmonic_oscillator_wavefunction(n,x/0ol_b);
}
s/=sqrt(ol_b);
fprintf (fo,"%.3f %.6f %.6f\n",x,creal(s),cimag(s));
norm2+=creal (s)*creal (s)+cimag(s) *cimag(s) ;
}
fprintf (fo,"# squared norm=%.10f\n",norm2*dx) ;
fclose(fo);
return O;

}

int write_potential(double qO, double ql, double g2, double g3,

42



00000000000 DO0O00O0ODOO0ODO0O00O double g4, double g5, double g6){

// potential energy DD UOUOOOOOODOOODOODDOOODOO

}

int npsi=500; // potential OO DO OO0 xO000O000OO-1 (00 ..npsi0O0O)
double xmin=-80.0; // potential J 0D OOODOOOOOCOO

double xmax= 80.0; // potential OO DOODOOODOODOODOO

int i;

static int filenumber = O;

double x,dx;

FILE *fo;

char filename[256];

if (filenumber > 999) return -1; // 0000000000000 O0OOOOO0OO
snprintf (filename, 256, "pot’%03d.dat" ,filenumber++) ;
fo=fopen(filename,"w");

printf ("# %f =q0\n",q0);
printf ("# %f =q1\n",ql);
printf ("# %f =q2\n",q2);
printf ("# %f =93\n",q3);
printf ("# %f =q94\n",q4);
printf ("# %f =95\n",q5);
printf ("# %f =q6\n",q6);

dx=(xmax-xmin) /npsi;
for(i=0;i<=npsi;i++) {
Xx=xmin+dx*i;
fprintf (fo,"%.3f %.6f\n",x,q0+x*(ql+x* (q2+x* (q3+x* (qd+x* (q5+x*q6))))));
¥
fclose(fo);
return O;

// 00000000000
double energy_expectation_value( double complex *x){

double complex s;
int i, j, k, js, je;

s = 0;
for ( i=0; i<N; i++){
js = i-maxpower;
if (js < 0) js = 0;
je = i+maxpower;
if (je > nmax) je = nmax;
k = kixi+j;
for ( j=js; j<=je; j++){
s += conj(x[i])*haml [ki*i+jl*x[j];
}
}
// sO0000o000000DO
if (fabs(cimag(s)) > 1.0e-20){
printf ("%f %f\n", creal(s), cimag(s));
}

return creal(s);
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// 000000 200000000
double energy_2_expectation_value( double complex *x){

double complex s, sli;
int i, j, k, js, je, ks, ke;

s = 0.0;
for ( i=0; i<N; i++){
js = i-maxpower*2;
if (js < 0) js = 0;
je = i+maxpower*2;
if (je > nmax) je = nmax;
for ( j=js; j<=je; j++){
if (i > j) ks = i-maxpower;
else ks = j-maxpower;
if (ks < 0) ks = 0;

if (i > j) ke = j+maxpower;
else ke = i+maxpower;
if (ke > nmax) ke = nmax;

sl = 0.0;
for (k=ks; k<=ke; k++){
s1 += haml [ki*i+k]*ham1 [ki*k+j];
}
s += slxconj(x[i])*x[j];
}

}
// sO0000 o00O00O0O0O0O0O0O
if (fabs(cimag(s)) > 1.0e-20){
printf ("%f %f\n", creal(s), cimag(s));
}

return creal(s);

}

// x0000000
double x_expectation_value( double complex *x){

double complex s;
int i, j;

s = 0;
for ( i=0; i<N; i++){
for ( j=0; j<N; j++H){
s += conj(x[il)*x[jl*ol b*xi_1 (i, j);
}
}
// sO0000o000000DO
if (fabs(cimag(s)) > 1.0e-20){
printf ("%f %f\n", creal(s), cimag(s));
}

return creal(s);

}

// x0 200000000
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double x_2_expectation_value( double complex *x){

double complex s;
int i, j;

s = 0;
for ( i=0; i<N; i++){
for ( j=0; j<N; j++){
s += conj(x[i])*x[jl*ol_bxol_b*xi_2 (i, j);
}
}
// sO0000o000000DO
if (fabs(cimag(s)) > 1.0e-20){
printf ("%f %f\n", creal(s), cimag(s));
}

return creal(s);
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